
 

                                                                         Circular Motion 

1) csu; fhyepiy epytpa ehnshd;wpy; thfdnkhd;W gazpf;ff; $ba mjp$ba Ntfk; 

10ms-1  MFk;.ghijahdJ <uypg;ghf cs;s NghJ gazpf;ff; $ba Mff; $ba Ntfk; 

5√𝟐 ms-1 MFk;.csu; fhyepiy epyTfpd;w ehspy; ghijapd; cuha;Tf; Fzfk; M Mf 
,Ue;jhy; <uypg;ghd ehnshd;wpy; ghijapd; cuha;Tf; Fzfk;  
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2) irf;fpNshl;b xUtu; 100m  MiuAila  tl;l tbt ghijapy; gazpf;fpd;whu;.ghij kw;Wk; 

rpy;ypilNa cuha;Tf; Fzfk; 0.2 MftpUe;jhy; tOf;fhky; mtu; gazpf;f; $ba Mff; 
$ba NtfkhdJ  
 

   1) 1ms-1             2) 1.4ms-1                 3) 2.8ms-1                4) 10ms-1              5) 14ms-1  

 

3) Miu R  cila tl;ltbt ghijapy; gazpf;Fk; Jzpf;ifnahd;wpd; ,af;f rf;jp K  

MdJ>gazpf;Fk; Jhuk; S ,d; kpJ jq;fpAs;sJ.K = as2 MftpUe;jhy; Jzpf;ifapd; kPJ 
Vw;gLk; tpir vt;tsY?  
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                      5) vJTkpy;iy  

 

4) Xl;lNghl;bahsu;fs; ,Utu; V1  kw;Wk; 𝑽𝟐 khwh Ntfq;fspy; 50m MiuAila Xl;l 

ghijapy; 10Km Xl;l Nghl;bapy; <Lgl;Ls;sdu;.V1 Ntfj;jpy; Xbf; nfhz;bUf;Fk; tPud; 10 
Rw;Wf;fs; Xb Kbj;j NghJ kw;iwa tPuu; 9 Rw;Wf;fs; Xb Kbj;Js;sjhf njupa 

te;jJ.
𝑽𝟏

𝑽𝟐
⁄  MdJ  

                 1) 10/9               2) 9π/10                               3) 18π/10                 4) 10π/9                        5) 9 

 

 



5) khztnuhUtupdhy; cUthf;fg;gl;Ls;s Pin-Hole  nfkuhtpd; jpiuapd; kPJ cUthfpa  #upa 

xsp nghl;lhdJ jpiuapd; kPJ ,U Gs;spfis fle;J nry;tjw;F 5 nrf;fd;fs; 

vLj;jJ.500m MiuAila Nkhl;lhu; thfd Xl;l Nghl;b ghijapd; (Racing Track) 
ikaj;jpypUe;J fz;Lfspf;Fk; NghJ nfkuhtpd; jpiuapy; ,U Gs;spfisf; flg;gjw;F 
Nkhl;lhu; thfdj;jpd; epoypw;F vLj;j fhyk; 1.56 sec MFk;.mg;gbahdhy; Nkhl;lhu; 
thfdj;jpd; NtfkhdJ md;dsthf  
 

1) 𝟕𝒎𝒔−𝟏                 2) 𝟏𝟐𝒎𝒔−𝟏                  3) 𝟐𝟏𝒎𝒔−𝟏                   4) 𝟏𝟐𝟎𝒎𝒔−𝟏                  5) 𝟏𝟐𝟎𝟎𝒎𝒔−𝟏  

 

 

6) xNu rkkhd jpzpTila Nfhsq;fs; ,uz;L cUtpw; fhl;lg;gl;Ls;sthW 

2m ePskhd ,ionahd;wpdhy; ,izf;fg;gl;Ls;sd.,it O gw;wpa fpil 
tl;lj;jpy; rPuhd Ntfj;jpy; Row;wg;gLfpd;wJ. 
 
   X kw;Wk; Y ,ilNa  ,Otpir      

----------------------------------------------------------   ,ilNaahd tpfpjkhdJ    

     O kw;Wk; X  ,ilNa ,Otpir   
 

   1) 1/2                     2) 2/4                     3) 2/3                4) 3/2                   5) 2  

 

7) $k;gf tbtpyhd ghj;jpunkhd;W cUtpw; fhl;lg;gl;Ls;sthW epiyf;Fj;J 
mr;R gw;wp Roy;fpd;wJ.Jzpf;ifnahd;W ghj;jpuj;jpd; Nkw;gug;gpid 
njhl;lthW mr;rpypUe;J R  Miu Jhuj;jpy; ghj;jpuk; rhu;ghf Xa;tpy; 

cs;sJ.Jzpf;ifahdJ ,af;fkilAk; Ntfk; V  MfTs;s NghJ V2 ,d; 
ngWkhdkhdJ  

1) 𝒈𝑹 𝐬𝐢𝐧 𝟑𝟎°      2) gR 𝐭𝐚𝐧 𝟑𝟎°    3) gR𝐜𝐨𝐬 𝟑𝟎°    4) gR / 𝐜𝐨𝐬 𝟑𝟎°       5) gR/𝐭𝐚𝐧 𝟑𝟎°  

 

8) nghw; rpypz;lu; xd;wpd; Miu r mtNjhL mjd; mr;R epiyf;Fj;jhf 
,Uf;FkhW nghUj;jg;gl;bUg;gJ rpypz;lupd; mr;R gw;wp 
RoYkhwhFk;.rpypz;lupd; cs;Nsh epiyf;Fj;J Rtupd; kPJ rpwpa 
jpzpnthd;W itf;fg;gl;L rpypz;liu Row;wpa NghJ mj;jpzpthdJ 

vy;iy rkepiyapy; fhzg;gl;lJ.cl;rtupd; cuha;Tf; Fzfk; μ 
MftpUe;jhy; rpypz;lu; Row;r;rpailAk; kPbwd;. 
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9) cUtpw; fhl;lg;gl;bUg;gJ nky;ypa ePlr;pailahf ,ionahd;Wld; 

jpzpTldhd Jzpf;ifnahd;Wld; ,izf;fg;gl;L rPuhd Nfhz Ntfj;jpy;  
Row;wg;gLk; re;jug;gkhFk;. 
 
A) fpil tpisAs; tpir G+r;rpakhFk; 

B) epiyf;Fj;J tpisAs; tpir G+r;rpakhFk; 

C) Jzpf;ifahdJ mjd; ika <u;g;G tpirapid ika ePf;F  



tpirAld; rkepiyaile;jthW NkNy cld; epiyia (instant position)  
Ngzpf; nfhs;fpd;wJ. 
,tw;Ws; cz;ikahdJ  
 

1) A kl;Lk;     2) B kl;Lk;      3) B kw;Wk; C kl;Lk;     4) A kw;Wk; B kl;Lk;  

5) ahTk;  
 
 

10) fuLKulhd Nkirnahd;wpd; gupjpapy; rpwpa 
fg;gpnahd;W nghUj;jg;gl;Ls;sJ.,U m 
jpzpTfs; nky;ypa ,ionah;dwpd; ,U 
KidTfNshLk; ,izf;fg;gl;L xU jpzpthdJ 
Nkirapd; kPJk; kw;iwaJ RahdPkhf njhq;fpf; 
nfhz;bUf;FkhW itf;fg;gl;Ls;sJ. 
,j;njhFjpahdJ O tpDhlhf nry;Yk; 

epiyFj;J mr;R gw;wp 𝝎 khwh Nfhz Ntfj;jpy; 
RoYk; NghJ ,ioapd; ,U gFjpfs; vg;NghJk; 

epiyf;Fj;J jsj;jpy; fhzg;gLkhW m 
jpzpthdJ Nkirapd; kPJ vy;iy rkepiyapy; 

fhzg;gLfpwJ.mg;NghJ Nkirapd; kPJ Miu r 
cila tl;lj;jpd; topNa ,af;fkiltNjhL 
kw;iwa jpzpTk; cUtpw; fhl;bAs;sthW tl;l 
,af;fj;jpy; <LgLfpd;wjhapd; Nkirapd; kPJ 
itf;fg;gl;L;s;s jpzpR kw;Wk; 
NkirapilNaahd epiy cuha;Tf; Fzfk;  
 

 
11) cl;Gwk; xg;gkhd miu nghw;Nfhs ghj;jpunkhd;wpd; cs;shiu 1m MFk;.mJ cUtpw; 

fhl;lg;gl;Ls;sthW epiyahf fhzg;gLfpwJ.mbapypUe;J 0.4m epiyf;Fj;J 

cauj;jpy; mike;Js;s fpil jsj;jpy; Jzpf;if A MdJ khwh Ntfj;jpy; tl;l 
,af;fj;jpy; <LgLfpd;wJ.mg;NghJ mjd; Nfhz NtfkhdJ  
 

 
 

 

12) O ,Dhlhf nry;Yk; epiyf;Fj;J  mr;R gw;wp fpil jsnkhdwpy;  

RoYkhW nghUj;jg;gl;Ls;s Nkirnahd;wpd; kPJ O tpDhlhf 

nry;Yk; epiyf;Fj;J mr;rpypUe;J 80cm Jhuj;jpy; 25g 

jpzpTila Jzpf;ifahdJ fhzg;gLfpwJ.NkirahdJ O 
tpDhlhf nry;Yk mr;R gw;wp Xa;tpypUe;J Nfhz Mu;KLfypy; 

Row;wg;gLk; NghJ Jzpf;ifhadJ O tpDhlhf nry;Yk; tl;l 

tbt ghijapy; Roy;fpd;wJ.Jzpf;ifahdJ ikak; O tpypUe;J 
ntsp Nef;fp tOf;fp nry;yhky; Row;wg;gl $ba Mff; $ba 



Nfhz NtfkhdJ (Jzpf;if kw;Wk; NkirapilNaahd 
cuha;Tf; Fzfk; 1/2  MFk;)  
 
 

 

 

13) tisnthd;wpy; gazpf;Fk; g]; tz;bnahd;W cUtpw; 
fhl;lg;gl;ls;sJ.,J gw;wpa gpd;tUk; $w;Wf;fspy; 
cz;ikahdJ 
 
A) mjpf Ntfj;jpy; g]; tz;bahdJ gazpf;Fk; NghJ tistpd; 

gf;fk; g]; tz;bahdJ ftpof; $ba Mgj;J cs;sJ. 

B)  g]; tz;bapd; rpy;ypd; kPJ njhopw;gLk; cuha;T tpirapw;F 
rkkhd ika Nehf;F tpirahdJ tz;bapd; kPJ nraw;gLk;  

C)  g]; tz;bahdJ tl;l ,af;fj;jpy; <LgLtjw;F Njitahd  
  ika Nehf;F tpirahdJ cuha;T tpirapdhy; toq;fg; 

gLfpwJ.  
 
  1) A kl;Lk;     2) B kl;Lk;     3) C kl;Lk;      4) A,B kl;Lk;  

  5) B, C kl;Lk; 
 

14) Miu 5√𝟑 MfTs;s tl;l tbt ghijapy; tyg;gf;fkhf Row;r;rpailAk; 

Jzpf;ifnahd;wpd; Fwpg;gpl;lnthU fdj;jpy; tpisAs; Mu;KLfy; a  kw;Wk; 

Ntfk; V MdJ topg;gLj;jg;gLk; jpirahdJ cUtpw; 

fhl;lg;gl;Ls;sJ.Jzpf;ifapd; njhLif Mu;KLfhy; 5ms-2 MFk; fPo; 
Fwpg;gplg;gl;Ls;s $w;Wfisf; fUJf. 
 

A) Jzpf;ifapd; Ntfk; mjpfupj;j fhzg;gLk;. 

B) ika Nehf;F Mu;KLfy; 5√𝟑 ms-2 MFk;. 

C) tpisAs; Mu;KLfy;  
 
Nkw;Fwpg;gpl;l $w;;Wf;fspy; cz;ikadJ  

1) A kl;Lk;    2) A kw;Wk; B kl;Lk;  

3) B kw;Wk; C kl;Lk;  4) A kw;Wk; C kl;Lk; 

5) A,B,C ahTk;   
 
 

 

15) vspa Crnyhd;W njhq;ftplg;gl;Ls;s Gs;spapw;F epiyf;Fj;jhf  
d Jhuk; fPNo Mzpnahd;W mbf;fg;gl;L;s;sJ.1m ePskhd Crnyhd;W 

60° rha;thf ,Uf;FkhW itf;fg;gl;L iftplg;gLfpd;wJ.Cry; 
Fz;lhdJ Mzpapid ikakhff; nfhz;L tl;lnkhd;wpid kl;L 
kl;lhf Vw;gLj;jpathW nry;tjw;F  
 

A) B ,y; NtfkhdJ √𝟐𝒈(𝟏 − 𝒄𝒐𝒔 𝟔𝟎°) Mf ,Uf;f Ntz;Lk;  

B)  B ,y; NtfkhdJ √𝟒(𝟏 − 𝒅)g  Mf ,Uf;f Ntz;Lk;. 

C)  d ,d; ngWkhdk;  0.75m Mf ,Uf;f Ntz;Lk;. 



                        tpilfs;  
 
                          
 
 
 
 
 
 
 
 
 
 
 
 
 
 

tpdhtpy;  ika Nehf;F tpirapid Nfl;b 
Ue;jhy; rupahd tpil (1) MFk;.Mdhy; 
,q;F tpir vd;gJ Jzpf;ifapd; kPjd 
KS tpirahFk;.mjdhy; ,q;F tpil 
vJTkpy;iy.   
  
 
 
 
 
 
 
 
 
 
 
 
                       
  
 
  
 
 

 
 
 
 



                             
                                                                 
 
                            Jzpf;ifapd; kPJ $k;gf Nkw; gug;gpdhy;  
                                         Vw;gLj;jg;gLk; epiyFj;J kWjhf;fk; 

TMf ,Ue;jhy;  
                                     
                                          nrq;Fj;J kWjhf;fk; = T sin 30°  

                                          fpil kWjhf;fk;    =   T sin 30° 

                                                                                                         

 
 
 
 
                                
jpzptpd; kPJ rpypz;lupd; Nkw;gug;gpdhy; cUthFk; 
nrq;Fj;J kWjhf;fk; R MFk;.jpzptpw;fhd ika 
Nehf;F tpirapid toq;FtJ mt;tpir                 
ahFk;. 
 

 
nghUshdJ fpil jpirapy; rkepiyapy; fhzg;gLk; 
nghUspd; epiwapdhy; fPo; Nehf;fp cUthFk; 
tpirahdJ Nkw;gug;gpdhy; cUthFk; vy;iy 
cuha;T tpirapdhy; rkepiyahf;fg; gLk;. 
 
mg =  𝝁𝑹 -------(2)  



 
 
                             9)  
 
 
 
 
 
 
        ika Nehf;F tpir =  mr𝝎𝟐              (A)  fpilahf T Sin𝜽 tpisAs; tpirahdJ 

fhzg;gLfpw;J.mJ tl;l ,af;fj;jpw;F 
rkkhd tpirnahd;W fhzg;gLfpw;J. 
mJ tl;l ,af;fj;jpw;F Njitahd 
ika Nehf;F tpirapid 
toq;Ffpd;wJ.  

                                          $w;W A – gpioahdJ  

                             𝒙kw;Wk; 𝒚 ,ilNa ,ioapd;      (B) fpil rkepiyf;F T Cos𝜽 = mg  

            ,Otpir 𝑻𝒚 kw;Wk; O kw;Wk;        fpilahf rkepiy mile;Js;sJ.tpisAs; 

                                                tpir G+r;rpakhFk;. 

            𝒙 ,ilNa ,ioapd; ,O           Rw;W B rupahdJ  

            tpir 𝑻𝒙MFk;. 
                                          (C)  tl;l ,af;fj;jpy; <LgLfpd;w Jzpf;if 
                                            xd;wpw;F vg;NghJk; ikaj;jpid 

Nehf;fpa ikaNehf;F Mu;KLfyhdJ 
fhzg;gLfpwJ.,e;j cld; epiyapYk; 
Mu;KLfyhfp nfhz;bUf;Fk;.  

rkepiyapy; fhzg;glhJ.$w;W (C) Ak; gpio. 
 
∗ 𝒚 ,w;fhf ikaj;pid Nehf;fp                    tpil (2)    

 
 
                                                    
 
 
 
 
 
 
 
 



                                             (11)        

 

 
                                                                                                           

 

                                                                                               A) 
                                                                                                              mjpf Ntfj;jpy; gazpf;Fk; NghJ 
                                            ika Nehf;F tpirapdhy; GtpaPu;g;G 
                                            ikak; gw;wp cUthf;Ffpd;;w tyQ;  
                                            Rop gw;wpa jpUg;gk; cau;tilfpdwJ. 
                                            mjdhy; tisnthd;wpy; ntspNa   
                                            ftpo;tjw;fhd tha;g;Gfs; mjpfk;.  
                                             
                                            B)  
                                                                                                               ika <u;g;G tpirf;fhf gq;fspg;gJ 
                                             g]; tz;bapd; rpw;fspy; (;lau;) kPJ 
                                             Vw;gLk; gf;f cuha;T kl;LNk  
 
                                             C)  
                                                                                                                 cuha;T tpirahdJ ika Nehf;F  
                                             tpirahf njhopw;gLfpwJ. 
                                              
                                             $w;W (C) kl;LNk rupahdJ. tpil(3)  



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



                                                                        
 
 
 
 
 
                                        
 
 
 
                                    
 
 
 
 
 
                                    ,jd;gb kl;Lkl;lhf G+uz tl;ltpaf;fnkhd;iw 
                                    epfo;j;Jtjw;F  

                                    √𝟏𝟎 = √𝟓𝒈(𝟏 − 𝒅) 

                                                                                              1-d  = 0.2 

                                                                                                  d = 0.8 Mf ,Uf;f NtzLk;. 
                                    
                                       A) ,J xU khwpyp.mtrpankd;wpy;iy. 

                                         ∴ 

                                       B),C) $w;Wf;dSk; nghU;ejhJ. 

                                                            tpil (All)  


